Moms abt 0

0.2
F(A +0.05) = 2F [[(-4.96 + 335 + 32.49s,)ds, x 0.05
0

+ F[ (-4.96 + 9.84 + 1.62 sind) * 0.052 * do
0

or

(A +0.05) = 0.1 (-161s, + 16.2s))*

+ [0.0122¢ - 4.05E-3cosdly

= 0.1(-0.322 + 0.65) + 0.0383 + 8.1E-3

A =0.0328 + 0.0464 = 0.0792 m
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10a.

& T

SSE

SSE

10b.

SSE

SSE

F =W/2

C3w(d? )
Teale )

1.'2
I 1
szd(vo)

2
9w2 2
i _f Gb?d* (— yz) oy

= 3W2y/(20Gbd)

= 3W{/(10Gbd)

F, = We,/¢

_ zdf W (&l g
2 ) Goeg \a 7)Y
a2 2,2
36W20 ( 42
+ 2 f ! i - y2 b02dy
2 5 Gbxe \ 4

36 W @, - £ (d“ &y
Gb2d6(?2

= 36

w? (";01 + Q71'92) - 36 wz(el + LY,

60 Gbd#? 60Gbd ¢

3W2,0,/(5Gbd0)
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10c.

@xF=%£—wx=w(t’/2—x)

2x2 7 7 36 (&
SSE = =X ff — - y?| b dx dv
2 o GbZd® \ 4

2
72 de W2 f( )
Gb2d® .60 0

42 2 3
A I e I LA e S S &
5Gbd 4 4 5Gbd | 4 2 3
SSE = 6wf/(120Gbd)
WD =lxwﬂx6 2 +85
2 s 3

L6, =3w 0Gb W
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CHAPTEEF. 15

la. 14 a = 60° c=0.5 s = 0.866
¢ =1.15m
AE
ko a = —
(k"] 1.155
u,’® vs°
0.25 0.433 u,°
0.433  0.75 v,°
i 0.216 0.375)
0.375 0.649]
2-4 a = 90° c=0s=1
f = 1m
. 00
[+ 01
3-4 o =150° ¢ =-0.866 s=20.5
f =2m
0.375 -0.217
-] = ~0217 0.125
0.591 0.158
K] = AE
0.158 1.774

_ 6
{qp} - 8
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or

0.591 0.158
0.158 1.774

RN
N

<1 [L774 -0158
v,°| AE [-0.158 0.591

(0.591 x 1.774 - 0.158%)
1.733 —0.154’ -6
-0.154 0577 ! |8

1

AE
1 11.63
E 5.54

1-4
~11.63
u, = (0.5 0.866) é
5.54
- _1.0174/AE
5. -l0174 AE
14 AE  1.155
F,_, = =0.88 kN
2-4
_11.63
u = © 1) XIE——
5.54
- 5.54/AE
F, , = 5.54 kN
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—11.63]
(-0.866 0.5) ——
AE
5.54

K
]

12.84/AE

F,, - 28, AE _cp N
AE = 2

(Round off errors)

1b.
H
o = - 30° c = 0.866
¢ =2
© o] - AE 0375 -0217
1-4 1 7 -0217 0.125
2-4
a = -60° c=20.5
¢ =1.155
- AR 0216 -0.375
b 71 = -0.375 0.649
1:4__
o = -135° ¢ = -0.707
¢ = 1.414
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-0.5

= -(.866

= -(.707



[Kn] -

[I(u]_l -

=
I

1-4

0.354 0.354

0.354 0.354

[0.945 -0.238

-0.238 1.128

1.118 0.236

0236 0.936

2.584

-6.544

2.584
(0.866 - 0.5) —

AE
_6.544

5.51/AE

- 2755 kN
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. 2.584 |
u, = (0.5 - 0.866) —
c ) AE -6.544
= 6.959/AE
F, 4 = 6.025 kN
34

u, = (-0707 -0.707) -1 (2.584 - 6.544)
AE -

= 2.8/AE
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